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41. Convert the sentence into indirect speech :

The prince said, “It gives me great pleasure to be here this evening.”

(1) The prince says, that it gives him great pleasure to be here that evening.

(2) The prince said that it gave him great pleasure to be there that evening,
(3) The prince said, that it gave him great pleasure to be there that evening.
(@)

The prince said that it gives him great pleasure to be there that evening.

42, Fill in the blank with the answer options given below :
Either the children or the milkman knocking at the door.
(1) are (2) is (3) were (4) Thave
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43. Give the synonym of :
conceit
(a) bright (b) pridé (c) vanity (d) scholar |
Answer options :

(1) (a) and (b) (2) (b} and (q) 3) (a)and (d) (4) (b} and (d)

44. What does the following idiom mean ?
to bury the hatchet
(1) to give up old enmity {2) to hide one’s wealth
{3) tohide one’s dislike (4) tokill someone

45. Choose the correct sentence.
{a) We entered the house.
(b) I ordered coffee.
{c) What is the time by your watch ?
Answer options :
(1) Only (b) (2) Only (a) and (b)
(3) Only (a) and (¢ (4) Only (b) and (0)

46. Punctuate the following sentence :
Yogesh cried his wife how stupid of you to have resigned
(1) Yogesh cried his wife, “How stupid of you to have resigned !”
(2)  Yogesh cried his wife, “How stupid of you to have resigned ?”
(3) “Yogesh,” cried his wife, “how stupid of you to have resigned "

(4) “Yogesh”, cried his wife, “how stupid of you to have resigned !”
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47. Match the following words with their antonyms : L
(a) Amateur (i} constant
(b) Fickle (1) liberal
(c) Chaos (iif)y professional
(d) Orthodox (iv) order

Answer options :

(@ (b) (9 (d)
O O @ 3§ @)
(2) () (@) (v) (i)
@) v @ @ @@
4) @ @@ @ @)

48. Identify the sentence which is not in passive voice.
(a) Her grief has been forgotten by her.
(b)  Our neighbour has bought a Nano car.
(c) My guilt has been discovered.
Answer options :
(1) Only (a) (2) Only (b)
(3) Only (b} and (¢) (4) Only (a) and (c)

49. Choose the most appropriate antonym for the underlined word :
Our teacher was a very strict person.
(1) lenient (2) relaxed (3) kind {(4) humorous

50. Spot the sentence with the correct use of punctuation si'gns.

(a) Isaw the ladies were very tired and hungry, Tioffered thtim‘sorme of ‘the food; that
we had stored away in case of an emergency. ! ) :

(b) Aslsaw the ladies were very tlred and hungry, I offered them some of the food that
we had stored away in case of an emergency. -~ . o o

Answer options : , . :
(1) Only @ @ onym
(3) Both (a) and (b) ' (4) Neither of them
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51.

12

Choose the grammatically correct sentence.
g Y
a The village counsel was a very effective body in the past.
g Y 34 P
(b) The defense counsel wanted to cross examine the witness.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
52. Chahge into Exclamatory sentence.
These are lovely apples.
(1) How lovely these apples are ! (2)  What lovely these apples are !
(3) How lovely are these apples! = (4)  What lovely are these apples !
53. Select the one that best conveys the meaning of the sentence/phrase :
Absolute rule by one person.
(1) plutocracy (2} autocracy (3) hippocracy {4) monopoly
54. Choose the best among the options to fill in the blank :
He better mind his manners.
(1) had (2)  should (3) has (4) can
55. What does the following idiom mean ?
to run the gauntlet
(1) to participate in a contest (2) tosell gloves
(3) to tace criticism {(4) to indulge in trade
56. Choose the correct meaning of the expression.
A white Elephant.
- (1) An unusual event (2) A beautiful object
(3) A possession that is burden some (4) An elephant which is white in colour
57. Select the correct sentence.

(@) Everyone warned you, didn’t they ?
(b) I'mliving in London. Are you ?
Answer options :

(1)  Only (a) (2) Only (b) (3) Both (4)  Neither
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A ' 13 AOS

58. Identify the sentences which are in the active voice.
(a) The guard refused him admittance.
(b) She was handed a chair.
(c) We are taught grammar by Mr. Krishnaji.
Answer options :
(1) (a) only (@ (b)only
(3) Only (a) and (b) {4) None of these

59. Choose the option with all four words spelt correctly.

(1) Lighteniné, noticeable, vacuum, ocassional.
(2) Lighining, noticeable, vacuum, occasional.
(3) Lightening, noticable, vaccum, ocassional.

(4) Lightning, noticeable, vaccum, ocassional.

60. Select the incorrect sentence.
(a) If you met him, he might guide you.
(b) If you have studied hard, you would have got good marks.
(c) If she works regularly, she could achieve her goal.
Answer options :
(1) Only (a (2) Only (b)
(3) Only (b) and (c) (4) Only (a) and (¢

61. Fil in the blank with the most appropriate among the given options :
His makes him a bad negotiator.

(1) adamancy (2) adamance (3) adamantness (4) adamansion

62. Choose the correctly spelt word.
(1) PERIMETRE (2) PERIMETER (3) PEREMETRE (4) PERAMETER

oAl HIMTEST ST /SPACE FOR ROUGH WORK

P.T.O.




AO8 14

63. Rewrite the sentence using ‘No Sooner .............. than’
As soon as he hears the news, he will write to me.
(1) No sooner does he hear the news than he will write to me.
(2) No sooner he hears the news than he will write to me.
(3} No sooner does he hear the news then he will write to me.
(

4)  No sooner does he hears the news than he will write to me.

64. Find out which are the correct sentences.
(a) These kind of books do not appeal to me.
(b) Those kinds of books do not appeal to me.
(¢} These kinds of books do not appeal to me.
(d) This kind of book does not appeal to me.
Answer options :
(1). Only (a) (2) Only (b)
(3) Both (a) and (b) ) () () and d)

65. Identify the structure of the sentence :
Being hard-working is not enough.
(1) Simple (2) Complex
(3) Compound (4) Compound-Complex

66. Choose the correct indirect narration of the sentence given below :
He said, “Let’s leave the case at the station.”
(a) He suggested leaving the case at the station.
(b} He suggested that they shall leave the case at the station.
(c) He suggested that we should leave the case at the station.
Answer options : |
(1) Only (a) (2) Only (b)
(3) Only (a) and ) (4) Only (5) and (0

67. Rajaji did not see eye to eye with Mr. Nehru on some points.
(1} challenge (2) dispute (3) agree {(4) accept
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68. With which of the given options do the underlined words most closely rhyme ?
’ He is a good cricketer. He bowls quite fast.
Keep the bowls next to the plates.
(1) howls and holes (2) holes and howls
(3) both rthyme with holes (4) both rhyme with howls
69. Spot the incorrect sentence where misrelated participle has been used.
(@) After waiting in the queue for ten minutes the bus arrived completely full.
{b) After we had been waiting in the queue for ten minutes the bus arrived completely
full.
Answer options :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b}
70. Identify the Mood :
“Speak”
(1)  Indicative (2) Subjunctive
(3) Imperative (4) None of the above
71. Choose the incorrect sentence.
{a) TI'wokeup;Igotout of bed.
{(b) He says; laws die, books never.
(¢} O God, Help me.
Answer options :
(1) Only () (2) Only (b)
(3)  Only (a) and (c) (4) None of the three
72. ldentify the option closest in meaning to the sentence given below :

I request that the meeting should be postponed.
{1) I request to postpone the meeting.

(2) I request postponement of the meeting.

(3) Irequested to postpone the meeting.

(4) 1requested postponement of the meeting.
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73.  Which of the given options comes nearest in meaning to the underlined word ?
This is an intractable problem.
(1) impossible to locate (2) impossible to understand
(3) impossible to resolve (4) impossible to track

74. Select the word that is most nearly opposite in meaning to the word given.
Incessantly
(1) Frequently (2)  Periodically (3) Regularly (4) Submissive

75. Choose the most appropriate phrase :

He is on good terms with the boss, hence he manages to with all kinds of
indiscipline.
(1) getalong (2) getout (3) get away (4) getover

Q. No. 76 to 80 : Read the passage carefully and find out the options.

In any awkward situation or a misadventure, a man with a sense of humour can take a
detached view of it, and laugh at the absurdity. Such a laughter, such a sense of humour is a
great relief. The English have it in a marked degree, whereas the French and the Germans lack
it.

Whenever one wonders why this sense of humour is required, one should consider the
reactions of a person with a sense of humour, and those who have no humour, and is either too
serious or too sentimental. A man with a sense of humour looks at the victims of laughter in a
sympathetic, loving light, and even if the laugh is turned against himself, he takes it with
detachment, in a sportsman-like spirit. _

A sense of humour means a sense of proportion. A wise man has a sense of proportion.
He is not carried away by an exaggerated or a one-sided view, however exalted it may be. This
sense of proportion may be called commonsense. A humorist, in proportion as he is great, is a
wise man, a man of sound commonsense, and his laughter is of the highest type. Comedy of the
highest type includes, as its soul, this sense of humour.

The spirit of humour teaches us the important philosophy of acceptance. Instead of vainly
and frettingly trying to reform the world - ‘mould the sorry state of things’ - the humorist
accepts the incongruity of the world - the absurdity - and laughs at it, and enjoys it. As the
mystic at the highest moment of his trance, is one with the world, accepts it, so the humorist at
the best, is satisfied with the world, accepts it, and laughs, and enjoys the very absurdity of it.

This laughter of the highest type has naturally a social value. It opens the eyes of the
readers to the incongruity and the absurdity of life around us.

76. Choose the word with the closest meaning to the word underlined in the sentence.
The spirit of humour teaches us the important philosophy of acceptance.
(1) to reject (2) to receive
(3) tolaugh (4) none of the above
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77. A humorist is compared to a mystic because :
1) He remains detached from others.

(
(2

St

He is always in a trance.

—

3} He accepts the world as it is.
)

(4) He tries to change the world.

78. Choose the correct option as per the passage.
‘to open the eyes’ means :
(1) to blink rapidly (2) to make aware

(3) to make sure (4}  to take a quick look

79. Complete the sentence given by choosing the correct option :
A sense of humour implies
(1}  one sided viewpoint (2) frettingly try to reform

(3) to avoid laughter (4) to accept incongruities

80. Read the passage carefully and find out the options which agree with the sentence given.

‘A person with a sense of humour is !
(1) judicious, didactic and demanding change
(2) too serious and sentimental

(3) sympathetic, detached and Ioving even if laughed at

(4) happy with a sense of superiority

81. 78 | THME § Wifow TEWOR HaRUT HH HId Fe ?
(1) 1985 - 86 (2} 1989 - 90 (3) 1982 - 83 (4) 1987 - 88

The seventyeight episodes of the television series Ramayan were first telecast on
Doordarshan in

(1) 1985 - 86 (2) 1989 - 90 (3) 1982 - 83 (4) 1987 - &8
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82. H 3. IEiEaET @IS faum 9 it s | il
(@) T FEr e A

(b) & HEEA AT HASHHHIT Tt B

(c) A Hesd AHIEY WERTeTa 7 weared M aEtann e

e

(1) {(a), (b) 3 (c) Wl WA 3=

(2)  (a), (b) O () T TRL.

(3) (a) 37T (b) €A T4, (c) A TR

(4) (a) 3 (c) §A 3T&E, (b) T &L,

State whether the following statements about C.D. Deshmukh are true or false ?
(a) He was the Union Finance Minister.

(b) He was the Member of Parliament from Colaba.

(c) He resigned in protest against Mumbai not being allotted to Maharashtra.
Answer options :

(1) (a), (b) and (c) all are true.

(2) (a), (b) and (c) all are not true.

(3) (a) and (b} are true, {c) is not true.

(

4) (a) and (c) are true, (b) is not true.

83. 1954 WSl Wegl TeoHY] WS SHorad! gt a1 e e fauedm’ o/ 2@ Fe, e
AT 9 TAH 9REH, (A S0 WES § deade HAHaW | 3 T W e,

(1) T FR (2) YEERS FP

(3) Tedu F9R (4) <3 e

When the Rajya Sabha member Lilavati Munshi argued in 1954 that ‘Cinema might badly
influence the youth’, actor and Rajya Sabha member insisted that, ‘Sunshine
and Shadow went hand in hand.’ '

(1) Raj Kapoor (2}  Prithviraj Kapoor

(3) Dileep Kumar (4) Dev Anand
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= V&l 9IS Sgand ST gqrae) fegiAt yaaret favg 9298 1973 - 75
HE GE Ho 2l
(1) Hewrg (2) @
(3) #EH 4) UEWRW

The anti-price rise movement of 1973 - 75, was organized by communist and socialist
women in the urban areas of

(1)  Maharashtra (2) Kerala

(3) Madras (4) Madhya Pradesh

85,

_ 9 srwgye faegs a1, s T T’ w1 faaue endae aifeen @ ol

(1) = HEsH (2) =BT T
(3) fogw uwsh fiig (4) FEYERE AT

The producer of ‘Achhut Kanya' was unable to get the Crusader against
untouchability and who also had seen ‘Ram Rajya’ filin only half way, to see his film.

(1) Dr. Ambedkar (2) Mahatma Gandhi
(3) Vitthal Ramji Shinde (4) Jayprakash Narayan

86.

a1 TRHFA WSS,
(1) TCOYE 9@ (2) AEAUS T/
(3) ToERIe® AR (4) oS RG]

the Home Minister conducted negotiations with the Princes regarding their
privy purses and introduced the bill that annulled the privileges of the princes.

(1) Vallabhbhai Patel (2) Yashwantrao Chavan

(3) Gulzarilal Nanda (4) Lal Bahadur Shastri
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87. HE TEHR wdlE, R B, W= gt €. T wdls @9 - FIeER e
FET TR AN TR F,
(1) et g4 () e o3
(3) Tawws (4) TEEA
Dr. Rubaiya Sayeed who was kidnapped at Shrinagar by Jammu and Kashmir Liberation
Front was the daughter of Mufti Mohammed Sayeed, who was the _ of India.
(1} Finance Minister (2) Defence Minister
(3)  Foreign Minister (4 Home Minister

88. TSR 1988 WEd S A1 A1 U fHSH0 SR ST g sifiaend oS @ 5 Hrat’
Il T e B ?
(1) @A ™wE  (2) =9 fEn (3) HARWS! I9E (4) = fam

Who had formed the ‘Jan Morcha’, which was merged in October 1988, with the Old
Janata Party to form the Janata Dal ?

(1} N.T. Rama Rao (2} V.P.Singh (3) Morarji Desai  (4) Charan Singh

89. fooiE e e

(1) = (2) rdwg (3) +4d (4) i
Pick out the odd thing from the following :
{1} Apsara (2) Aryabhatta (3) Dhruva (4) Kamini

90. T 1955 AT WG GEIHLY WISGIH! HIvM= FeHFT eyl ?
(1) FFSH e, OIS Teg I, KT
(2) Y T ToE, TR, H-TH-o™
(@) famem afde, 2 wig TR, S S
(4) FOHT A, W W g7, Joud HEA
Who from the following had participated in the Bandung Conference in 1955 ?
(1) Franklin Roosevelt, Lal Bahadur Shastri, Nasser
(2) Pandit Jawaharlal Nehru, Nasser, Chou-En-Lai

(3) Winston Churchill, Dr. Rajendra Prasad, Barrister Jinnah
(4) Clement Attlee, Mao Tse Tung, Nelson Mandela
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91. WINIRM 7q i U ST S A 3.
(1) 1 7=, 2006 2) 1=K, 2007
(3) 1 7reds, 2008 (4) 1 =R, 2005
The new Industrial Policy of Maharashtra was proclaimed on
(1) 1 November, 2006 (2) 1 November, 2007
(3) 1 November, 2008 (4) 1 November, 2005

92, HERTEA] HWeHid Wois faumiar faar w0 anfor Sivrt faum saT =Rd § 9 ?
(a) T STTR foiew wald it dAweran foieer IR,
(b) SIEHGTR Taid WG SABoorE] foieel 3.

qaft 39 ;

1) (a) TR (b) TeF (2) (a) IF (b) WM

(3) =R @ JATF

Consider the following statements and answer which is correct regarding Maharashtra
State ?

(a) Mumbai suburban district is smallest district in terms of area.
(b) Ahmednagar is largest district in terms of area.
Answer options :

(1) (a) correct (b) wrong (2) (a) wrong (b) correct
(3) Both correct (4) Both wrong

93, Yol W Mad T U Ul wvam fadl FeEtt e ?
(1) 23 56 fufe 4.00 993 (2) 23 a9 55 faf1e 59,00 WeE
(3) 23 a9 55 fAfR 49.09 ¥9% (4) 23 a9 56 fufe 0.09 ¥Fg

How much time is required by the earth to complete one rotation around itself ?
(1) 23 hours 56 minutes 4.09 seconds (2) 23 hours 55 minutes 59.09 seconds
(3) 23 hours 55 minutes 49.09 seconds (4) 23 hours 56 minutes 0.09 seconds
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94. IV ARSI WY TATE WUifadl &t WO ?

(a) @i, S, =i (b) s, fiRe, wiem

(© W, qal, ferem (d) Tor, gy, gon

it I

1) (a) ®H (2)  (b) 3T (d) (3) (o) 37 (a) (4) P (d)

Which confluence of the river is called the Pranhita river ?
(a) Wardha, Vainganga, Painganga (b) Anjana, Girja, Manjara
(¢) Pravara, Mula, Shivana (d) Poorna, Dudhana, Darana

Answer options :

(1)  Only (a) (2) (b and (d) (3) (9 and (a) (4) Only (d)

95. WOGYH! g & .

(a) TSH ) fEfmTss (o feee (d) =1
it I

(1) %% (@) (2) (a) 30 (d) HF

(3)  (a), (b) 37 (o) (4) (o) M (d)

State the forms of precipitation from the following.

(a) Rainfall (b) Drizzle (c) Snowfall (d) Cloud
Answer options :

(1) Only (a) (2) (a) and (d) only

(3) (), (b) and (c) (4) (9)and (d)

96, HIIT=A [oH IS TsAEIER WSGds! Hivdl U Fegme Teg o[ @ ?
(1) <EW (2) TSI 3) Tifen 4) FieE

Among the following districts of Maharashtra which district does not touch the boundary
of Telangana State in East ?

(1) Chandrapur (2) Yavatmal (3) Gondia (4) Nanded
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97. @ fauH TEl
(a) WS YErgarH @ist 20,000 f . o,
(b) fovEgTEr 31 YEEamde At 101.04 fH. a2
(c) WA THvEE SeTae yamEes=n 5 a9 30 fafteqt art e,
FTISUHT HIvE /Ao faum/fauas st o/ smda ?
(1) W faum (a) 2) = faum (b)
(3) faum (a) 37 (b) (0) faum (b) =nfo (o)
Observe the following staternents.
(a) The length of every longitude is 20,000 k.
(t) The distance between two longitudes on equator is 101.04 km.
(c) The Indian Standard Time is 5 hours 30 minutes behind the World Standard Time.

Which of the above statement/statements is/are correct ?

{1) Only Statement (a) (2) Only Statement (b)
(3) Statement (a) and (b) (4) Statement (b) and (c)

98. WellE! areN YAy faune ofm uarl yey RO e ™ TSR WS I e
EIH

(a) WER Y3R f&an @@ R
(b) FEEmN TSR 3 3y UaR
(c) HEIS AN WATR 981

(d) s 93
widt 3T ;
(1) (a) ®d (2) (b) 3 (c) 3) (o) =W (d) (4) (d) ®d

The large plateau spread to the east of the Sahyadri Mountain ranges is called :
(a) Plateau of Maharashtra or Deccan Plateau.

(b) Buldhana and Aundh Plateau

(c) Saswad and Khanapur Plateau

(d) Igneous Plateau

Answer options :

(1) (@ only @ ®and@© () ©@and@d (&) (donly
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99, HERTT=AT 2011 WGl SFUFTHT Widle fSea 3=a faT-TUkuar 3a3dl 59 o6l

1) i, fayg, it (2) Tifea, i, fHygd
(3) fHgg, wid, Tifem (4) Temnmw, faygd, i

According to 2011 census arrange the following districts of Maharashtra in descending
order in terms of high sex ratio.

(1) Gondia, Sindhudurg, Ratnagiri (2) Gondia, Ratnagiri, Sindhudurg
(3) Sindhudurg, Ratnagiri, Gondia (4) Ratnagiri, Sindhudurg, Gondia

100, TRATNTHNS WEe G fFHee fividga-Iaids o,
(1) Tasg, sifsw, fhygt (2) ifsw, feygH, fasagl
(3) Taygd, fasmag, sits (4) TEygH, sifsw, fasag

Arrange the following Sea Forts of Maharashtra from South to North.
(1) Vijaydurg, Janjira, Sindhudurg (2) Janjira, Sindhudurg, Vijaydurg
(3) Sindhudurg, Vijaydurg, Janjira (4) Sindhudurg, Janjira, Vijaydurg

101. FERIEMIG THY=EdsEd oo Ay faanm @i,
(a) TTEETTE IHTAR FHHHR® (TR UEE) Ao Wuadsl Hagd 4vard I 75,
(b) FeEHRY (fom wEa) Shat Haga sTod ArHaa SR ArTeerTarars] TEe srHae

eyl THaga dvarm v Al
e 3
1) faum (@) == (2) faum (b) T
(3) <=t fau S (4) <= faum gt

Consider the following statements about Gram-Panchayats in Maharashtra.

{a) A backward class candidate is eligible to elect as Sarpanch which is unreserved
(open).

(b) A backward class person elected from General (open) seat is eligible to elect as
Sarpanch which is reserved for backward class.

Answer options :
(1) Statement (a) is correct (2) Statement (b) is correct

(3) Both the statements are correct (4) Both the statements are false
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102. Hfaum 99 YRAE UL e & REiRt=ca

(1) 9 fedar, 1946, fa=n ufgem d3ata

(2) 22 SFa, 1947 S guiag sfeseien sva fasren e
(3) 22 53, 1947

(4) 14 AHTE, 1947

The design of the National Flag of India was adopted by the Constituent Assembly on

(1) 9% December, 1946, at its first meeting

(2) 22™ January, 1947, when it adopted the famous objective resolution
(3) 227d July, 1947

(4)  14™ August, 1947

103.

TOEtH FU fauH Y o1 ?

(a) I B U S WHE 3R,

(by TEARA g T A YHE 7R,

(c) Wi & T YeHhg TE 3T,

At 3

(0 (a) (2)  (b) 3) () (4) SUOKR IV T

Which one of the following statements is false ?

(a) Governor is the constitutional head of the state.

(b) Chief Minister is the head of the State Government.
(c) Secretary is the administrative head of the state.
Answer opttons :

1) (a) (2) (b) 3 (0 (4) None of the above
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(d)

TR 14
3R 16
3T 17
TR 18

gt 391 ;

(1

2

—

3

—

)
)
)
)

4

(a) (b)
(i) ()
(i) (i)
(iv) (i)
(v) (i)

©
0
i)
(i)
0

@
(i)
0
0
(i)

0
(@
i)

26

FTOTTIT T
G THET

oAl THTE!

Match the pairs - (Fundamental Rights).

(@)
(b)
(<)
(d)

‘Af
Article 14
Article 16
Article 17

Article 18

Answer options :

M
)
)
(4)

(a) (b)
(i} (iv)
(@ (i)
(iv) (i)
(iv) (i)

()

0

(@
()
()

g
Abolition of Untouchability
Equality of Opportunity
Abolition of Titles

Equality before Law
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105. T fauA faarm =,

R IS W STl STESER 9l 37 AR T W e it [
THEATER Fed el T & LT T9ae B F& .

TLYA HHIYH RN Hg Gl THYH,
LYl TSEE & TS| $5 SRt 9ee 35,

(d) CsHEeT= S TfEERT FO U SR (NCRWC) 3TT=5] 356 § a9
I TR R S Bl

At S

(1) faum (@), (), () TR

(2) TouE (b), (c), (d) TR

3) faum (a) anftn (d) TR

@) Fam @), ®), (@), (d) TR

Consider the following statements.

(a)

If on receipt of a report from the Governor or otherwise the President is satisfied that

the Government of the state cannot be carried on in accordance with the Constitution he
may impose a President’s Rule.

(b}
(c}
(d)

The satisfaction of the President means the satisfaction of the Union Government.
President’s Rule is actually rule by the Union Government.

The National Comunission to Review the working of the Constitution (NCRWC) has
recommended that the Article 356 should be deleted.

Answer options :

(1)
(2)
(3)
(4)

Statements (a), (b), (c) are correct
Statements (b}, (c), (d) are correct
Statements (a) and (d) are correct

Statements (a), (b), (¢}, (d) are correct
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106. faur wfiReaed gEwtst R fGum/ fauam stet T/ ?
(a) FAFHRITY TS S F1, THU GHEE HEI= 5/6 HeH € AYAY [Hoss S,
(b) 1/6 HEH & Tdreig MR & S,
() TSN AHAEYARET =RS 19 S $% v,
oo I

1) () (2) (b 3) () (4) (2 ¥ (o)

Which of the following statement/statements about the Legislative Council is/are not
correct ?

(a) Broadly speaking 5/6 of the total number of members are elected indirectly.
(v) 1/6 members are nominated by the Governor.
() The courts can question the bonafide of the Governor’s nomination.

Answer options :

1) (a) 2y (®) 3) (9 (4) (@) and ()

107. Anieyie =l WU S0l FORM geadl o FRy asai fzo ama ?
(1) od 41 (2) %9 4 (3) woH 47 4) w9 51

Which article in the chapter of Directive Principles directs the States to prohibit consumpton
of liquor ?

(1) Artcle 41 (2) Article 44 - {3) Article 47 {4) Article 51
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108. WPIT d9ld 9 fHegn=a1 A e o,

(a) 37T (i) W
(b) 3R (i) =mwiA
(c) dmees (i) I
d) T (iv) TS
gt I

@ (® (g (d
G 0 @ @ @)
(2 @ @ @G (@)
(3) @) @) (@) (@)
4) @) (@@ @ @)
Match the following lakes with their districts.
(a) Andra () Parbhani
(b) Aland (i)  Washim
() Varul (i) Pune
(d) Pangri (iv) Nanded
Answer options :

(@ (b) () (d
1) @ @ @ ()
2 @ @@ @ @)
@) @) @ Gv) (@
4) @) (@) @ @)

109. GBI FIE ‘ fUcsau! favg=n g’ ToEW B9 A& ?
(1) HFa! =9d Sfaey
(2) I fHam
(3) <efamE yimey
(4) o g fswmn S| wfady
Which of the following does not include in the ‘Right against Exploitation’ ?
(1) Prohibition of traffic in human beings
(2) . Abolition of untouchability
(3) Prohibition of beggary
(4) Prohibition of employment of children in hazardous jobs
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110.

30 A

9 fedie 1946 TSt ot feeaimsl Fiieqy dfe ALl we1 Sfvd= ufedt So% Wet el @
gow A WU

(1) HIEE =rde (2) UHE TN 1 Hew Be

(3) UISHZ THA HAH (4) SHEW FR

The Constitution hali where the first meeting of the Constituent Assembly ‘was held on
9th December, 1946, in New Delhi is now known as the

(1) Sansadiya Gyanpeeth (2) Central Hall of the Parliament House

(3) Parliament House Annexe {4) Lok Sabha Chamber
111, g Hiod foer faf e Seara EriRiet 9ea T Io0 ARergd o
Jed AHEIeTdId #Ad7d,
(1) YaguH (2) SHUEYl
@) fafy wsht (4) FOoU=! THE TR
Judges may be transferred from one High Court to another by the President after consulting
(1) Prime Minister (2) Vice-President
(3) Law Minister {4) None of the above
112, ‘fauras’ wed @eie faum faamr =0

(a) TEATEM FHda STHGEIGG! 29 AN 1 TET #Rd.

(b) STEUIGS W 60 Yt 59 M A1 TN SHIGES TS TR
(c) SITPEHE T wp1 A1 AT TS TEE .

(d) W YN AT STAGIEET Thel ST T el

W‘hﬁ' 3?!3(‘ :
(1) faum (a), (b) TR (2) & (b), (c) TR
@) faur (a), (d) T (4) Taumd (b), (d) =R

Consider the following statements about the ‘Legislative Assembly’.

(a) In Maharashtra, 29 seats are reserved for Scheduled Tribes.

(b) In Arunachal Pradesh, out of 60 seats, 59 are reserved for Scheduled Tribes.
{c) In Nagaland, all seats are reserved for Scheduled Tribes.

(d) In Uttar Pradesh, not a single seat is reserved for Scheduled Tribes.

Answer options :

(1) Statements (a), (b) are correct (2)  Statements (b), (c) are correct

{3) Statements (a), (d) are correct {4) Statements (b), (d) are correct
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113. WASUH! SV A =1 Gt Todr Jeause JufqedrHat YaqH 590 81 ?

(a) ANRS <6 (b) = fET

(c) =rdL. fam (d) =l RideE
(e) ==L el

it 3

(1) (@), (). d) (2) (@), (b), (e)

(@) (@) (k) (© (e @) (a), (b), (0) (@), (e)

Who among the following persons became Prime Ministers after being Chief Minister of
their respective states ?

(a) Morarji Desai (b) Charan Singh

(¢) V.P.Singh (d) P.V. Narasimha Rao
() H.D. Deve Gowda

Answer options :

1) (@ () (d) - @ @0

(3) (@ (b) () (e) @ (@ ®),©) @)

114, WIHSIFH! R fGum =T TE 2
(1) a9 YETE1 D HEEe T 98 o WY § Wgdren Jefiad 98 4ior .
(2) ‘TgudrEt 7l STEd e <6 9w 39 A
(3) Tl Yere A e, I LA YT HIVAET SOl g2 Uohde.
(4) TEEAA gl SR GO Hed SHee YT TeHaTei-l Jglae §2e Fehdld.
Which of the following statements is not correct ?

(1) The prescribed term of office for a Governor is five years but he holds office at the
pleasure of the President.

(2)  The pleasure of the President is not challengeable before any court.

(3) The Governor has no security of tenure, he may be removed by the President at any
time.

(4) The Constitution has laid down some grounds upon which a Governor may be
removed by the President.
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115. EO@IH! HIoN fa9H ST ATér 2
(1) ovd hdzaist G 41 76 A,
(2) TOUT SAAIN FHEY 1976 S 42 A1 HEAGEN ] SUMHTHER FI0g .
(3) T Fud A= 51 e g 7.
(4) TeT=AT Ah] FIVCATE Haoa= F ATTEsTauiae] Tag el

Which one of the following statements is not correct ?
(1) The Fundamental Duties are now eleven in number.

(2) The Fundamental Duties has been inserted by the 42" Constitutional Amendment
Act, 1976.

(3) The Fundamental Duties are incorporated in Article 51.
(4) Thereis no provision in the Constitution for direct enforcement of any of these Duties.

116. TSGUH! HOAl TS dIorrol LI TAOIEYF JE§ TH0 & Ulea ?

(1) ot dodiidies s : (2) B YEenits Ao

(3) FuHEl g A (4) Tt dEaitie A
Which Five Year Plan aims at inclusive growth ?

(1) Ninth Five Year Plan (2) Tenth Five Year Plan
(3) Eleventh Five Year Plan (4) Twelfth Five Year Plan

117. TN S8R TG HOT T SETEEE (NCRWC) STt e faam =,
(a) T YHUE ULIGEH EgERI 2000 AL HI0GH S L. .
(b) 11 VIHEE @™ @ T T, Sheaco 2.
(c) I IEATS 31 HIH, 2002 TSt HIGL FH{0TT AT
(d) T 249 ToAERE Hedl g,
TS FHIORT U™ S=ET 2T ?
1) (a) (b) (c) (2) (b (<), (d)
(3) (@), () (<), (d) (4) H (a) A (b)

Consider the following statements about the “National Commission to Review the Working
of the Constitution” (NCRWC).

(a) It was appointed by the President in February 2000.

(b) 1t was headed by M.N. Venkatchaliah with 11 members.
()  Submitted its report on 31%t March, 2002.

(d) It made 249 recommendations.

Which of the above statements are correct ?

(1) (@), (b)) (2) (b)) (d)

(3) (@) (b), (o) (d) (4)  Only (a) and (b)
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A 33 AO8
118, FrRISTRS Fugarpi Wl Svaren gen aetets! S faq Syi=n vE ool
T 3T ?
(1) YT H=d (2) wrEsFw we
(3) T RO (4) faceit wigeaos

From the point of view of resource mobilisation for the plans, which is the main internal
source of finance 7

(1) Foreign aid (2) Public debt
{3) Taxation (4) Foreign capital

119. WSB! ST YRATT T@He=1 A’ 378 G0 H Sl ?
(1) TSI TRRIae ThL
(2) WVEYH FEiaie TH
() SRt
(1) TR AR e e T
| Which one of the following has been described as the ‘Soul of the Indian Constitution” ?
(1) The chapter on Fundamental Rights |
(2)  The:hapter on Directive Principles
(3) The Freamble

(4) The Provistons regarding Judicial Review

120, ‘&t ge@’ (fEw fofe) = Hivon Fivmn JeEg HoA e ?
(1) few=mdsAa () <endasee (3) wEsmANAG  (4) EEE Ay
In which plan ‘Garibi Hatao” (Removal of poverty) slogan was given ? ‘
(1) Third Plan (2) Fourth Plan (3) Fifth Plan {4) Sixth Plan

121. S, 2016 A8 AT AeH F9M 0 SR A0l Tl TFRRERS AeE-2016 =

HTHl 9N TS,
() 16 =t (2) 1974t (3) 20t (4 27
The edition of Exercise Malabar - 2016 was conducted in June, 2016 by the
Indian Navy along with naval forces of Japan and USA.
(1) 16th (2) 19t (3) 20th (4) 22md
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122, ‘999’ S AR ?

(1) TormeT (2)  TommreT fat e
(3) e faum (4) 3I9uB

What is ‘Tejas’ ?

(1) Tank (2) Anti-tank Missile
(3) Fighter Plane (4) Satellite

123. 2016 e "WAGYET’ J FHUS FHITT FI0AT ST 2

(1) 3 & (@) T
(3) it omgd (4) forie T
Who has been honoured by ‘Padma Vibhushan’ in 2016 ?

- (1)  Anupam Kher (2) Saina Nehwal
(3) Yamini Krushnamurti (4) Vinod Rai

124. A - A, 2016 ALY SNa THRSN W T yaFeqiata @ie e seer wadten ufsean i
WIS fadl wed= frae sivan et ?
(1) 10 2) 20 (3) 50 (4) 100

How many cities in India were selected in the first round of ‘Smart City Challenge
Competition” under the Smart City Project of Government of India in May - June, 2016 ?

1) 10 2) 20 3) 50 4) 100

125. -T=1 Reafors UROIEE Hivren /A JHard 9ol STEalS ) IS Jiel 5o g ?
(1) A TE.IR. goH=A Tfd (2) 3 ToaTg Wikl
(3) S.UH. USqq | (4) IR wwe i

Which committee has recently submitted its report on ‘New Education Policy” to the Central
Government ?

(1) TSR Subramanian Committee (2) Ashok Dalwai Committee
(3) J.S. Rajput Committee (4) Sudhir Mankad Committee
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126. WRA HEHRA a1t gt aaq et frams anfn faewm wiivson= (PFRDA)
AT FHS,
(1) 2013 (2) 2003 (3) 2006 ) 2007
Government of India established Pension Fund Regulatory and Development Authority
(PFRDA) in '
(1) 2013 (2) 2003 (3) 2006 (4) 2007

127. 2015 91 ‘T61 €Re Wid® [EEhR W TAS $H0R A7earad Weedsh! Hiv T st el ?
(1) = G eps i/ M R,
(2) = IRy faAveies, am @i Ao  YRe ' WA YiHt hedl, ™A 9Ra’ € 2w
BICRECICE
(3) TorEl nefre fiveme W™ HAS $UR Tiar A0l S AHE S oS T,
@) ‘EAR’ AR vaiae FoeR o[ fReeR miEivs fiwe,

Which of the following statements is not correct about Manoj Kumar - the recipient of
‘Dadasaheb Phalke Award’ for 2015 ?

(1)  His real name is Harikrishna Giri Goswamy.

(2)  Because of his patriotic films, in which he acted as hero ‘Bharat’, he is nicknamed as
‘Bharat’.

(3) Pimpalgaon road in Shirdi has been named as ‘Manoj Kumar Goswamy Marg'.
(4) Received the best actor ‘Filmfair Award’ for film ‘Beiman’.

128. GHS w1 Aiea1 S1edid GISI@Ush! S0 a9 SR e ?
(1) 7T 99 I AEEH o,
(2) T ARF. UFH Fi| S IS SR,
(3) ® WA e 23/ A VR R 21 § YHE 9 .
(4) O TEMEW YEER WIS 3. _
Which one of the following statement about Sunil Lamba is not correct ?
(1) Appointed as a Chief of Navy.
(2) He has succeeded R.K. Dhawan.
(3) He became the 23™ Chief of Indian Navy and 21t as an Indian.
(

4}  He is a recipient of Padma Bhushan.

el HIMMEIS AT /SPACE FOR ROUGH WORK
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129. 2015 =1 AT ' whe of’ e wifa fegren fasar dfmer g
(1) wfé févite goaa afeen geda fasm.
(2) HFH WA 57 il fasm.
(3) = fawan SUeR 479 Wi Ul HHT.
(4) Tfee gl Sma sTee T e ufed e ofeet aee.
The speciality of victory of Sania Mirza in ‘Circle Tennis’ competition - 2015, America is :
(1) won the Women’s Double with Martina Hinggis.
(2) won the final in 57 minutes.

(3) with the victory secured 479 ranking points.

(4) became the first Indian woman to achieve first rank in the World in Women’s Doubles.

130. HERILTS ' €. SIS gEsT oH-o faed A’ v Seva a2
(1) STIa ST S it arafas- s fasmy T,
(2) 9 Yhed | WAAOH TR FETHS Al TeaqaReis faw Sl
(3) THE it A= Yrofl A1 Hod HH] F0),
(4) TEEH= gEde i w95 &=,

Which one is not an objective of ‘Dr. Shyamaprasad Mukherjee Jan-Van Vikas Scheme’ of
Maharashira ?

(1) To achieve welfare and socio-economic development of Scheduled Tribes.

(2) Tocreate comprehensive development of villages in the buffer zones of tiger reserves
and around them.

(3) To reduce the man and wild animal conflict.

(4) To reduce dependence of villagers on the forest.

131. T Yaie FEanie ahen e 79 B8 T st Fe et s dee S 2

(1) e (2) s (3) (4) <4

Name the scheme which will provide LPG connection to five crore women beneficiaries
from BPL families. |

(1) Ujala (2) Ujjwala (3) Unnati (4) Uday

AT HIITETE A /SPACE FOR ROUGH WORK
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132, TR IgA Nt farhra Woe sifewea (S, 2016) TR FRIVGEE = W
(1) veag faemdts
(2) N9 Koo smfsw fazmds
(3) faot damrT onfor wes e
(4) 2T ST S g

Defence Research and Development Organisation recently (June, 2016) signed a
memorandum of understanding with to establish the Jagdish Chandra Bose
Centre for Advanced Technology.

(1) Jadavpur University

(2} O.P. Jindal Global University

(3) Birla Institute of Technology and Science
(4) Tata Institute of Fundamental Research

133, foron TERR TfoamaY Tt Ao s e Faure e
(a) I HATYSF Hies Gareie et Toi.
() 116 2w 9.
() e sAfteraR e AR @i Wi o,
FhoYH Svd/Fomdr faum/ faam ster ar/sma?
(1) HIB (a) ) e (b) A (<)
(3) ¥ (a) 31 () @) (), ®) 3 ()
Consider the following statements about Queen Elizabeth - II of Britain.
(a) The longest reigning monarch in the World.
{(b) Visited 116 countries.

() Coins of most of the countries in the World carry her image.

Which of the statement/statements given above is/are correct ?
(1) (a) only (2) (b) and (c) only
(3) (a)} and (c) only 4} (a) (b) and (c)

THeAT SHIATATES AT /SPACE FOR ROUGH WORK
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134, ‘B3 WO’ (Friendship Dam) Srad=n faumian fa=m =
(a) & U0 STHMIVERGL Fye 8.
(b) WHAR d TEe FEET T 1,700 F1el €H H%d MY AR,
(c) T Y= 7| ‘TS R B,
(d) ® vNa-sTwmitRE A Wit Feam @ S5 e R [ TR FEE A,
Tio fauFST Hio[ /S R, faum T o/ 3 ?
(1) a2 (a) (2) HID (b) A ()
(3) TS (a), (b) 3 (d) @) @
Consider the statements about ‘Friendship Dam’.
(@) The dam is built in Afghanistan.
(b) Itis by India on river Harirud at the cost of ¥ 1,700 crore.
() It's previous name was ‘Salama Dam’.
(d) It has become a symbol of Indo-Afghanistan friendship hence, re-named as
‘Friendship Dam’.
Which of the statement/statements given above is/are true ?
(1) (@) only (2) (b)and (<) only
(3} (a), (b) and (d) only 4 Al

135. S0 e * Sl Yed ! s faurrEn e %4,
(a) & TS FRUIlGHE THEd TER | TUGH Wehed' TR,
(b) YT Ui fam FEFH (Y TA.ELW.) Seehed @ Yo S S
(€) 3, HH, WS 9 FY, UIgha U TAFF= 91 Feh=ar fasmmitat d1 anawd
3T,
) CEF FIA R A HHiEl 6 T T 10 AT,
TGS FIoR/ o faum/ faam stem TR/ 31 ?
(1) a% (a) (2) hdS (b) 3 (c)
(3) Hd% (a) M (d) (4) wd
Consider the statements about ‘Vengurla Pattern” of solid waste management.
(a) 1ltis a’Pilot Project’ being carried out by Vengurla Municipality.
(b) Appreciated by United Nations Development Programme (UNDP) Organisation.

(c) Based on the separation of the solid waste in four categories as - wet, dry, plastic
and glass, metal waste.

(d) The plastic waste collection timing is 6 a.m. to 10 p.m.

Which of the above statement/statements is/are correct ?

(1) (a) only (2) (b and (c) only

(3) (a)and (d) only (4) Al

FHoAl HIES AT /SPACE FOR ROUGH WORK
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136. 26 WA, 2016 TR @1 A oA AR Uidsiys FEEme’ (Aa) wgar 3w
+.
(a) 60 feargren 3 =il Ul e AIYS TrEs F,
(b) FTeitETSt T e T S,
(c) ‘worwn fudia nfeein snfde e 0.
(d) Faharm a @i Feamie g 7 faawi=n m nfs meq 0.

FBYH! BT T AU e/ 3R ?
(1) e (a) 3T (b) | (2) Fed (a) I ()
(3) Heles (a) MW (d) 4

Consider the provisions of ‘New Atrocity Act’ implemented from 26 January, 2016.
(a) To complete the inquiry and submit the indictment within 60 days.

(b) To establish a special court for trial.

(c) To give financial help to rape victim women.

{d) To give financial help to the victims and their family members, within 7 days.
Which of the provisions given above is/are corregt ?

(1) Only (a) and {b) (2) Only (a) and (c)

(3) Only (a) and (d) (4) Al

137. SYH UMD 188 SHi=A1 — ST4fara sgwara, fern o 3cqe fohen goiee - &1 e fasm
T¥iE H9A, 2015 97, Jedlaore] aReeadel S{wR Ufee IR waran S¥ 3R

1) i, sefom, wigree, T
2) siretem, d, Wewds, T
3)  wiegds, 7, sieton, T
4) W, s, S, Whewds

As per the United Nations’ Human Development Index, 2015 [based on measures of 188
countries], in - life expectancy, education and income or standard of living - serially first
four best countries to live on earth are :

(
(
(
(

(1) Norway, Australia, Switzerland, Denmark
(2) Australia, Norway, Switzerland, Denmark
(3) Switzerland, Norway, Australia, Denmark

(4) Norway, Australia, Denmark, Switzerland

THEAT hHIATATS AT /SPACE FOR ROUGH WORK
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138. ‘qU HEmT e NG [EHR- 2015 YSH Hvdd o, O 318 :
(1) el g o &A1 AifeH]
) S FE I IS g
(3) U\ 9ve 9 IR R
(4) TS PP 3 I FERIS TGN FWIEH AU AMSAR

‘Pune Festival Lifetime Achievement Award - 2015" was conferred to

(1) Shashi Kapoor and Hema Malini

(2}  Anil Kapoor and Shekhar Suman

(3} Prem Chopra and Shashi Kapoor

(4) Anil Kapoor and Maharaja of Mysuru Yaduveer Krishnadatta Chamraj Wadiyar

139, WA & &9UnE dgH A0 72d (MTCR) i GeEd Sl AT,
(1) 3591 (2) 38 3) 497 4) 214
Indiabecame __ ‘full member of the Missile Technology Control Regime (MTCR).
(1) 35t (2) 38th (3) 49th (4) 21%

140. 'Tm=ERd Hrite sfewrer famr w4
(a) —eEwE fahg
(by O ™
(c) T =M™
(d) 1 TTEN F HH
e FU S e S 2
(1) %@ (a) 3 (b) (2) % (b) M (c)
(3) e (a) MO (d) . @) wd
Consider the objectives behind the concept of ‘Gram-Nyayalaya’ [Viliage Judiciary].
(a) Decentralization of Judicial system
(b) Speedy Justice
(cj Cheap Justice
(d} Less anguish and trouble
Which of the objectives given above are correct ?
(1} (a) and (b) only (2) (b)and (c) only
{3) (a) and (d) only 4 Al

oAl HIATHTS! WA /SPACE FOR ROUGH WORK
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141. 9= SfEaN WS 418 T899 S0 @l U0 ES & MOl 9 IR, X T B ST
Ifean ®m?

(L wEm (2) =

(3) e (4) =W

Amol’s father has neither a brother nor a sister but Amol is Ganesh’s nephew then what
is the relation of Ganesh with Amol's father ?

(1) brother-in-law {2) nephew

(3) son-in-law (4) maternal uncle

142. R WET@M F1¢ T 64 TR THAweN 34 31840 @ ° < Ty fgs 9= or 923 @ 3=
frae.

365 328

(1) 96 fufe () 90 fafe ® I fafre @ fafre
Select the time that a watch loose per day if its hands coincide every 64 minutes.

: : 365 328 |
(1} 96 minutes (2) 90 minutes (3} 1 minutes (4) 77 minutes

143. TSH=T He=Al SrIETs! ahETa wioar feret -
o A & W
B Y/ S
2 *
Y 2 ¥ ®) SN/
Select the logical image for the sixth place in the following series :

S
(1) 7}@ (2) @ (3) % (4) 25

THEAT IS F /SPACE FOR ROUGH WORK
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144.

42 A
‘Teq’ A §ATdTe; YRS Hayq TR,
(1) "feEm (2) i (3) o (4) fom

The ‘UDAY’ scheme is related to reforms in the sector.

(1) Petroleum (2) Banking (3) Power (4) Insurance

145.

el Wih{dHh WG A, B, C, D, E, F, G II=919ES 4, 5, 6, 7, 8, 9, 10 § 3 919w 37ed W feoen
FAM 7. B TS} 8 31uEn 7 arehl FHEr 37F e A 9id Wfew fawm o 9 D Ui gatd Hier
HH e G SR, C 13} 6 fhar 10 TFa e e, E W3t 4, 8, 9 AT HIVTH 37 Hahd
&, WEF A6 7 9 fhar 9 7 1R snfor G uidt wn & AR, Yoo ot fadsfig s e
Hftra &9 o,

CXF+ExG-D
AXB

(1 5 (2 10 (3) 15 (4) 20

In a certain code language the numbers 4, 5, 6, 7, 8, 9, 10 are used for A, B,C, D, E, F, G
but not in order. Neither number 7 nor 8 stands for B. The first odd number in the
sequence given is used for A and the biggest even number for D. The number 6 or 10 is
used as a code for C. But for E the numbers 4, 8, 9 are not used. The number 7 or 9 is used
for F, and the even number is used for G. Decode and simplify following expression.

CxF+ExG-D
AXxB

(1) 5 @) 10 3) 15 @) 20

FoT FHEE SR /SPACE FOR ROUGH WORK
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146. WEISEISAMIE 950 JoldH! 306 G-E! W&dd. 274 Fa3l W@ A0 370 Feaie Qe
TV i) 79 Feale o hagl, 132 G-T T Fesies o1 wagl 9 G-G ¢ 2 Wes WordM.
51 3 TE Teo Weod™. T Uhel Wed A WU et g Tl ?

v @A@ e
N

(1) 181 ) 271 (3) 251 (4) 274

Out of 950 boys in a college, 306 play Kho-Kho, 274 play Kabaddi and 370 play Foot-ball,
of the total 79 play both Foot-ball and Kabaddi, 132 play Kho-Kho and Foot-ball and 91
play Kabaddi and Kho-Kho. 51 play all the three games. Then how many boys do not
play any game ?

b ‘A%& horkro

Foot-ball

(1) 181 () 271 (3) 251 (@) 274

147. e S AR SFESS T SET OF WURIEH ST, FIU I TR S 2T

93 ?
SON:QML::GIRL:__?_.
(1) FHQK (2) EGPK (3) FGQJ (4) EGP]

Analogy present between first two words is identical with analogy between second pair
of words. Which word will replace question mark ?

SON:QML::GIRL:_?_
(1) FHQK (2) EGPK 3y FGQYJ (4) EGPJ

o HETEE T /SPACE FOR ROUGH WORK
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148, ' 20 foenef whian argeidl we”, @ freed e T SOl 9 9ed s,
g
(a) 40 forenedt wisn Il S,
() 10 faeneaft e i Fe M woE @ ol a1 sl e e
(c) il soe faenei<h Hem st fammeafian 2 13 w%a a8,
(d) ST e faenet=t Hem wan quf 7 FRorlen 5 13 9Ra 3R
o I
1) () ®) 2 @ © 3 ®) 4 ®).

Identify two facts that prove conclusion, “Twenty students failed the exam”. To be always
true.

Facts :

(a) 40 students passed the exam.

(b) 10 students did not complete the exam and so neither passed nor failed.
(¢) Number of students who passed outnumbered those who failed by2:1.

(d) Number of students who failed outnumbered those who did not complete exam by
5: 1

Answer options :

1) @ ® 2 @ © @) ®).© (4) (&) (d)

149. ¥ @ T F9M @R WS AR, T @ 9an gfe=n R aR. g faeten Tam Hier SR,
T FATIAET T .

(1) %2 Fared @IS TN o6 S (2) I I SR Hie IR
(3) e TN ARAYE Hi5t o (4) 0o gd TN T R4
. Kate is three times older than Yuga. Mini is half the age of Zarin. Yuga is older than Mini.
Select the true inference.
(1) Kate may be younger than Zarin (2) Yuga is older than Zarin
(3) Kate is older than Zarin (4) All above are correct

e HIAEIS 0 /SPACE FOR ROUGH WORK
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150, (Er® WA wigvht sivaren svft yeafesgrsm sl Savaraet yak fasl.
75, 87, 53, 61, 81, 90, 67, _2__

(1) 79
2) 80
3) 75

(4) W Tagr=a SFh Sag<t den fAfvea FoaeRt A 7

Study the given arrangement of numbers and select the option for replacing question
mark.

75,87, 53, 61, 81, 90, 67, _2__
1y 79
2) 80
3) 75

(4) There is no pattern for deciding number for replacement

151, TN foremn el Wi, ‘o1 A YpRaR Here T w72 auie .
iR drg 93 frae, - |
1 o1 . (2) 89 (3) 87 (4) 86
Rango told her granddaughter, “1 am 72 years old if I do not count the Friday”. -

Select actual age of Rango. .
1y 91 (2y 8¢9 (3) 87 (4) 86

152. RS & UfveHES TS F61 W . W AYT 9 HIel IAHS o, SEIHS a1 7 Hiet €@ Foa
AT AR SEIFS o 9 WX Twa Aod e, =1 Ioahe da 1 5 HiTl W =rod 1al @
AR A=A THN |l <ol Svar el fohdl Sial S SRS 2

(1) 12 "X () 14 §IX (3) 16 WX | (4) 18 HI=X

Niraj:was standing facing West, from that point he went 9 meters to North. After taking
left turn he walked 7 meters straight then turning left again he walked 9 meters straight.
Then he took right turn and walked 5 meters straight. How many meters will he needs to
walk straight to reach the starting point ?

(1) 12 meters (2) 14 meters (3) 16 meters (4) 18 meters

o RIS S /SPACE FOR ROUGH WORK
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153. Iz T faur K s 9 @ye fafire Fur o faum swoe 1ai4 foo e, gean=4 a1
Taumren anan faat faum g gy frerd 3 @147 vaig faern

(a) TTEGERN FiE TS P A ST,

(b) ETEIHRIH HIE ST TTH R,

(c) TR WIS TeHH TSI HKh T,

(d) TEGH FIE TS FET TAFERSHE W TLHES FIOMNT 3T T,

(o) T TRTAETHS TEUTE T S TR .

Tt I

1) (0. () (o) (2) @) (e), (b) (3) (&) (b) (a) (4) (), (d). (e)

Given below are five statements followed by options comprised of three statements in a
specific order. Choose the option where third statement is valid conclusion based on the
preceding two statements.

Statements :
(a) Traffic congestion increases carbon monoxide in the air.

(b) Traffic congestion is hazardous to health.

—

c) Traffic congestion is not always hazardous to health.

——

d) Traffic congestion does not always cause increase in carbon monoxide.

—

e) Increase in carbon monoxide is hazardous to health.

Answer options :

(1) (9, () (o) (2) (@) (), (b) 3) (o) (b), () (4 © (d) (e

154, < Uah[ Qihfdes v ‘mxy das zci’ TES ‘good little frock” ; ‘Jmx cos zci’ TEUS) ‘girl behaves
good’ ; ‘nug drs cos’ T “girl makes mistake’ 3N ‘das ajp cos’” TUM little girl felt’, T
YTNe ‘frock’ 1 IEETEIS! Il Vg Heahd 3T 7

(1) mxy (2) zci (3) das (4) cos

If in a certain code language, ‘mxy das zci’ means ‘good little frock” ; “Jmx cos zci’ means
‘girl behaves good’ ; ‘'nug drs cos’ means “girl makes mistake’ and ‘das ajp cos’ means
‘little girl felt’, which word in that language stands for ‘frock’ ?

(1) mxy (2) za (3) das (4) cos

HoAT HIATETS! 9T /SPACE FOR ROUGH WORK
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155. EOE TEEOTd] TRGEH HURFE! ST SREaedIHr Be] giqeamal df w9l fode df S
g1 et :

1?ﬁﬂ'€l\l{

. M

izm—a

* * .-\'- *
) @ @) @ (7
I

Select the option that would look like the following transparent paper sheet after folding
it as shown by the arrows :

* lz““ fold

(1) (2) (3) (4)

THeAT SRTHTEE J /SPACE FOR ROUGH WORK
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156. T A7 Sr=A1 Tous faody o wadl, et S, faem qon gorei &M #id. Sl
e & qui Femen weeer T 1,800 e & o1 F =, Toiren o Jors Aeeedimie
e et @ el
GoEtE SET w3 e
(1) 1,000, 500, 300 (2 900, 300, 600
(3) 400, 1,200, 200 (4) 1,200, 400, 200
A man does thrice the work done by his wife and wife does double the work done by her
daughter. If they got a job and finished their work for which they received remuneration
of T 1,800 then find respective shares of the man, wife and daughter.
Choose correct option from the following :
(1) 1,000, 500, 300 (2) 900, 300, 600
(3) 400, 1,200, 200 (4) 1,200, 400, 200
157. SN tanf =2 [0 < 90°] X cosechH=?
J5 1 2
1 — 2 —- 3 - 4
m 3 @ = e % @ 5
If tanf=2 [8 < 90°] then cosech =?
' J5 1 2
1) = 2) = 3y =
M @ % ® & @ 5
158. W, TR 9 UE® A1 THO1 T 5,780 HiSa® Taad U Aad™ G&F ol WY G Haer=
To7a 10% HH 9K 9 29 TESUT 10% FH &R Tafas), @ Ugo fdt GeH Jafaet
i |
(1) ¥ 2,000 {2) T 2,060 3y T 2100 (4) T 2210
Suresh, Mahesh and Rahul started a business by investing total amount of ¥ 5,780. If
Suresh invested 10% more than Mahesh and Mahesh invested 10% less than Rahul. How
much amount did Rahul invested ?
1) T 2,000 (2) T 2,060 (3) T 2,100 @) T 2210
159, TH! EHeNMA 12 TEINE TUE FIE 91d SEed. 13 31 SE| X 64 U6l FHEeanies @i

U qEE=A 23 FH Wel; 7K 13 361 SO A uais S fahdt ?

{1y 78 (2) 88 3) 90 (4) 92

A batsman has certain average of runs for 12 innings. In the 13t inning, he scored
64 runs thereby decreasing the average by 2. What is the average of runs after
13% innings ?

(1) 78 (2) 88 (3) 90 4) 92
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160. I Fegi=1 d.Lfa. oNfn s fa, aigehd 6 972 M. R A HEAE TOINR 3 : 4 AT W T I
HEARI® M W ! ?
1 9 2 12 (3) 18 (4) 36

The HCF and LCM of two numbers are 6 and 72 respectively. If the ratio of two numbers
is 3 : 4, then which 1s smaller of these two numbers ?

1 9 Q 12 (3) 18 (4) 36

161. <N FHTTC faoy TearEt 09 48 8. OF o1 GEE=Ar Al s fahd) ?

(1) 596 {2) 626 (3) 656 (4) 686

Sum of four consecutive odd numbers is 48. What is the sum of squares of these
numbers ?

(1) 596 (2) 626 (3) 656 (4) 686

162. Thma F1&1, 28 -5 12 =2

n 7-3 2y 4-42 B) 5-43 @ 2-5

Find value of, /28 =5 J12 =?

1 7-43 2 4-v2 . B 5-3 4 2-45
163, B FE: —+—_ — L7

| " 148 x 384 384 x 236 148 x 236
1 1
(1) 38 (2) 0 (3) 236 4) 1
1 1 1

Find :

+ — =
148 x 384 384 x 236 148 x 236

1 1
0 3m @ o0 ®) 5m @ 1
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164. HH[ATT AR AT S STEAGL o 25 9./, 9 60 WA, 3G Ul HUE 9 65 9.1, 3R, W
HHTUYE Fh T A% gl

TS TET 9919 Hazr
(1) 750w (2) 15007 A (3) 1000 F. . (¢) 1200 5L HA

Two nonparallel sides of a parallelogram are of measure 25 cm and 60 cm and one of the
diagonals is of measure 65 cm. Find the area of parallelogram.

Choose the correct option from the following :
(1) 750 sq. cm {2) 1500 sq. cm (3) 1000 sg. cm (4) 1200 sq. cm

165. U1 SUidsh T 4 I9MEET 2 ULe 9. T 10 < 9IS 9 dshdle AT J[I0 Hidh
¥ 1,282 e, @ YEw f&dl ?
(1) T 10,000 (2) T 15,000 (3) T 20,000 (4) T 25,000

The difference between simple and compound interest on certain amount for 4 years at
10% p.a. is ¥ 1,282, what is principal ?

(1) T 10,000 2) T 15,000 (3) % 20,000 (4) T 25,000

166, AR &% qg1 3% :

(a) TSR]

(b) wheufE dudl

(c) g% @l

(d) ey EHl

FietHl aree faum)/ faum faer?

(1) (a) &0 (b) (2) (b) =

(3) () &= (4) THSTHT FIoE G

Trade Mark is :

(a} Current asset

(b}  Fictitious asset

{c} Tangible asset

(d) Intangible asset

Which of the statement/statements given above is/are correct ?
(1) (a) and (b) (2) (b)only

(3} (d) only (4) None of the above

el SIHETS A /SPACE FOR ROUGH WORK
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167. S TH-9F T TH Wd 3R :
(a) WEH T RIS (™ 3THe
(b) T T [ETTe soh SMHS
(c) TTEhr= WTHH® dheal TIoaere
(d) SR FoaE T
FUYH! FIvE faum/faum Ster 18/ o7ed ?
(1) (o) ® (2 (@), ®) 3 ()
(@) () w (4)  (b) P
A bank pass-book is a copy of :
(a) the cash column of a customer’s cash book
(b) the bank column of a customer’s cash book
(c) the customer’s account in the bank’s ledger

(d) none of the above

Which of the statement/statements given above is/are correct ?
(1) (c) only (@ @ (B)and ()
(3)  (d) only (4) (b)only

168, TWOIGUTH! SEIHAHG! @& GRadasa THfae &R :

(1) Tahl sigsn 2) GE I
() foH =<t 9 wadl g (4) alote od
Source documents for accounting include the following :
(1) Sales order (2) Purchase order
(3) Invoice and credit notes (4) Al of these
169. T A0S THHTEIS St dredl 99 eedd QTS Aiat TR 2T
(1) Fieuigar (2) fafay wrmEis freosgar
(3) HoMd TRETIER C(4)  SHTVREER
If two sides of trial balance are tally or equally it is indicate that the books of accounts are
accurate.
(1) posting (2) balance of accounts
(3) principle (4) arithmetically
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170.

52 A
YIS ST, Yo sEer fhudre Temsme U @i gEaE qifed
.

(1) U= g @ f&ER

(3) V|1 AQ) (4) T RIVRE A

Under this system, each transaction is seen as a flow of value from one account to
another :

(1) Single entry (2) Double entry

(3) Both (1) and (2) (4) None of these
171. SEHHT HIOT] A== T el ?

(a) T&Ie

(b) AT Aic] HTWl/SEHH HT0!
(c) TEIISH ST sgaRRr=a AlE S

(d) TEIEFT AL F

et B fau/ faur wtET /3R 2

(1) () w1 (2) (b) F
@) () () snfn (d) we @) (o W

Accountancy includes :

{a) Book keeping

(b) Accounting

{c) Book keeping and accounting

(d) Making entries in the purchase book

Which of the statement/statements given above is/are correct ?
(1) (a)only 2) (b) only

(3) (a), (b) and (d) only (4) (c) only
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172. Siegl foress Avaie @ Aol Fidfaoe T, de @ ned fofedm.
(1) =EURl U5hr=A1 SH1 F5[E
(2) RIS Ho-HoHd S
(3) WifvE HioHe 9 TR a9 &
(4) AUEH T4
When closing stock is given in the Trial Balance, it is shown
(1) in credit side of Trading Account
(2) 1in assets side of Balance Sheet

(3) as deduction from opening stock and purchases

(4) all the above

173. W JEgHAE e s Afufaws ros geane s@e | Ay 3o whyam
HAES i g Yo o,
1y @ () ¥ (3) @ (4) oy

In case overdraft as per Bank Pass Book is taken as the starting point. It should be put in
column of the Bank Reconciliation Statement.

(1) Cash (2) Bank (3) Minus (4) PFlus

174, WAE Uk gEUaS O w1 S sifupad 20 9 ffeaa SwiwTE aE oW

(1) == (2)

(3) & (4) TEE HIRE AR

The voucher is document which provides the authorisation to pay and specifies the accounts
tobe:

(1) Debited (2} Credited

(3) Debited and Credited (4) None of these
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175. DEIFAE T &1
(1) e TR
(2)  FATEET HifgeaT STHN TIE FL0
(3) AU ANERIE FNFA At FL0
(4) F-onfdE 47 T

The prime function of Accounting is to :

¥ 9.

(I} record economic data.
(2} provide the informational basis for action.
(3) classifving and recording business transaction

(4) attain non-economic goals

176. 3T SO0 @E 9 A0 STHGS I0H § qeoacsl Ao s¥ifaes .
(1)  Hu-HeH (2) <HA-=
(3) ISl @ el (4) FreafTw ATEH
Prepaid Expenses and Outstanding Income are shown on _ __side of Balance
Sheet.
(1) Assets (2} Liabilities
(3) Assets and Liabilities (4) Fictiious Assets

177. wOFETE T o9 950 SV W ToHEE! aTael S 2
1) wYUA 3 fFals wied s,

(

() @it d o Hem g

(3) T o ¥ ¥

(4) TESifwe 9 TETHwR 3

Depletion Value Method of Depreciation is used for Assets.

(1)  Cattle and Loose tools etc.
(2) Mines and Quarries etc.

(3) Machinery and Building etc.
(4) Goodwill and Cepyright etc.
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178. @GS fiAle ggd ‘Saied geiww’ § R,

(1)  Aof=wmum () (2) A =2 4 vizTS
(3) A -2t = wigaw (4) =Owts v
The following is the ‘accounting equation’ of double entry system :
(1)  Assets=Equities (2) Assets= Liabilities + Capital
(3) Assets— Liabilities = Capital (4) All of these
179. WA @i gaifom ATYHTT TR,
(1) fer 2) aFfeus
3) Hfer 9 Aeicas® (4) AUH BRI TR
Indian Accounting Standards are :
(1) Mandatory (2) Optional
(3) Mandatory and Optional (4) None of these
180. A T -
(2)  HpTIORI STH
(b) S ifa
(c) VIS s
(d) TEEl T
et T R/ A S SR 7
(1 (a) & (2 {0 %K
3) (@), (b) 3 (d) (4) IS A T

Trial balance indicates :

(@) Arithmetical accuracy

(b) Indicates errors

(¢} Summary of Journal

(d) Summary of Ledger

Which of the statement/statements given above is/are correct ?
(1) (a) only (2 (9 only

(3) (a), (b) and (d) (4) None of the above
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181. 34 afN @< @ 3g -
(a) U drdfas @

(b) T&H THYR @

(c) & I @

(d) TaIFT @

Fiois For faum/ fagm aver s/ amRa ?

L @) A (2) (a) BH

(3) (o) 3ufu (d) () ST HivEE T

Income and expenditure account is :

{a) a real account

(b) a nominal account

{c) a personal account

(d) wvaluation account

Which of the statement/statements given above is/are correct ?
(1) (b)only (@) () only

(3) {c) and (d) (4) None of the above

182. ©HN 3HNET UEH
(a) ST HUiER/ 3= HHl
(b) /9 GUdran

(c) ST’ Yehra

(d) 3TG¥ HTeR

Flieltst 9@rg walg faer -

(1) (a) A (b) 2 () B
(3) dUoUF! TR AR (4) (a) ®F

Depreciation should be calculated on :

(a) Fixed assets

{(p) Current assets

{¢) Outward charges

{d) Intangible assets

Select right alternative from the above statements :
(1) (a) and (b) @) (c)only
(3) None of the above (4) {(a) only
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183. Jgame) gl fhma/@En Al wEt GH Ed ST,
(1) ferga (2) We-gegareer 1@
(3) T 4 < feos
The amount of depreciation goes on decreasing value in the every year. Under
method.
(1) Fixed installment (2) Straight line
(3) Revaluation (4) Diminishing Balance

184. [EIGUH! MU AAFHLA WIS i T A 7
1) B S 2 Tegw@s @ (3) o yww (4) ¥RV W

Which of the following is not subsidiary book of Journal or accounts ?

(1) Purchase boock (2) Cash book (3) Sales book (4) Cheque book

185. T& e fe.=fl. €9, e 3= Huen T 15,000 &1 10% IR Yol faFar o7t dmar 10%
fosr! #X o ™ ot HUE wan fat dEa?

(1) ¥ 1,500 ) ¥1,350 (3) T 12,150 (4) ¥ 3,000

One colour T.V. set sold to ABC and Co. for ¥ 15,000 with 10% trade discount, and
charged 10% sales tax on it. Calculate sales tax amount.

(1) % 1,500 ) T 1,350 (3) T 12,150 4) T 3,000

186. FHERY T TAER= SEHEE TEEEITT STYHEE T iy

(1) odE HIERHHR (2) DEiFT YIS g FH

(3) wF Afear= da2t @) 15 faur=n daet

The profitability and solvency of a business should be measured :

(1) after each transaction (2) at the end of the accounting period
(3) at the end of each month (4) at the end of 15 days
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187, 39S GSSHHN) UG HS 9 ¢

{c) & Wd

(d) wiEIE

ot I foam/ faum aties s/ o1 ?

D @@E) (2 (@ FR @) @M@ (4 (b))
Drawings are deducted from :

{a) Sales

(b) Purchases

{c) Return outward

{d) Capital

Which of the statement/statements given above is/are correct ?

(1) (a) and (b) (2)  (d)only (3) () and (a) (4) (b)and (¢)
188. TERIH Fel g T R R ot ThH T SH FNE RO T,

(1) e @ (2) €€ w9 @

(3) fowre @m (4) wWEEEd

In case of a debt becoming bad the amount should be credited to :

(1) Debtors account (2) Bad debts account

(3) Sales account (4) Purchases account
189, EiHA aret ikl TR

(1) HEm (2) eniiga (3) wfard wo (4) =t wd

Accounting is the process of :

(1) Recording (2) Classifying (3) Sumumarising (4) Al of these

FoAT HIHMEIS W /SPACE FOR ROUGH WORK




A 59 AO8

190. 3T fHaaess 30991 § dressigel EISIENIECESIGE
(1) Hod-woms (2)  SEar-gul (3) @ (@) W
Pre-received Income is shown on side of Balance Sheet.
(1} Assets (2) Liabilities (3)  Debit (4} Credit

191, HNITTETH FIHHA TG (GATT)WWWW(WTO)WWW?

(1) 1 Sl 1957 (2) 1 FHar, 1991
(3) 1 sHand, 1995 (4) 1 SHar, 1996
WTO replaced GATT and came into existence on

(1) 1% January, 1957 ' (2) 1% January, 1991
{(3) 1% january, 1995 (4) 1% January, 1996

192. GAT TauHiER {9 %3 ¢
(@) 1992-93 =0 HeideReT feymrod fafmaet usdl & geth weas g,
(b) S fafrac Fvier ¥ T 967 T 40 TR A U T 60 THE T <

3 Frfred ¥ 24
It 3y
(1) (a) BI FUA 3T 2) (b) T T e
(3)  (a) A (b) AR I SR @ (@ R (b) TEE TF A

Consider the following statements :

(@) The liberalised Exchange Rate System adopted in the budget of 1992-93 was of a
dual nature.

(b) The conversion of the foreign currency under this system was such that 40% at
official rate while 60% at the market rate.

Answer options :
(1) (a) only is correct (2}  (b) only is correct
{3) (a) and (b) both are correct {4) (a) and (b) both are incorrect
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193, Tovd =R Heet 5t g @ fowmit aed e

(a) T feeh

b) <

(c) &

(@) fomgR

A I

1 @3 2) @3@ @) @3 (4) ® I

The Ministerial Conference of the WTO has not yet held at :

(@) New Delhi
(b) Doha

(c) Uruguay
(d) Singapore
Answer options :

(1) () and (b) (2) (¢) and (d) (3) (a) and (0 (4) (b} and (d)

194. WIAM &1 TYFH HRo FHh IER F ?

(1) [, 1992 2) <, 1991 3) I, 1995 @) S, 1994

When did India declare New Economic Policy ?

(1) July, 1992 2) July, 1991 (3) TJuly, 1995 (4)  July, 1994
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195. X TR IRAS aaCERERER e TR [AavEReRE e fresdite,
(1) TG FI& Hrouwm AUHR
(2) TAEUE INE A SHCETETEr R
(3) AN TS I
() TSy uwe e
Under the foreign investors will be given same rights as the national investors
in the matter of investment.
(1) Trade Related Intellectual Pfoperty Rights
(2) Trade Related Investinent Measures
{3) General Agreement on Trade in Services
{4) None of these
196, ST § SHEA THUTG qoft 3. Hfirar Feicares e G Aei=a 39 stfyem s
T Yga Ve, Y% fawer wheat 3 ffeiE f d9 wend Wfefew=n 0.1% wm
Fai o S w43 Afzfew o omae Wi ?
1) 13.00 2) 13.20 (3) 12.30 (4) 1245
An amoeba is a shapeless unicellular organism. An amoeba propagates by simple division
into two amoebas. Every splitting process is completed during 3 minutes. At noon, 0.1%
of petridish was filled with amoebas. At what time will the petridish be full ?
(1} 13.00 (2) 13.20 (3) 12.30 4y 1245
197, VIGITA] 3% A&7 370 A TITHFIOME] (FSSAL) TUIUAT 375 L&f 370 i g,

(1) 2006 (2) 2009 (3) 2013 @) 2014

The Food Safety and Standards Authonty of India (FSSAI) was established under Food
Safety and Standards Act,

(1) 2006 (2) 2009 (3) 2013 (4) 2014
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198. 1991 WY fEsree nffs YuRwiay ar<) GaEy gal ¢
(a) TETEET W
(b) WuEl dEEeE g

() HETRT= gy

u‘qﬁfraﬁ:
1) (a),® T T ) (2) T (b) T
3) (b) ¥ () B 4) (a) T (c) T

The economic reforms adopted in 1991 comprises of these things :

{a) Macroeconomic stabilization
(b) Effective population control
(c) Structural reforms

Answer options :

(1) (a), (b) and (c) all (2) (a) and (b) only
(3) (b)and (c) only (4) (a) and (c) only

199. TSI RV Tehed1 MEr=A1 33t FRIFMORE e Hediqn @ = 9870 ooy

IeE w2

(1) SR (2) SHEHW

(3) iR (4) TS

Which term refers to freedom to business enterprises from excessive government
control ?

(1) Privatization {2) Liberalization

(3) Globalization (4) Disinvestment

T TS AT /SPACE FOR ROUGH WORK




A 63 AOS
200. WRie fayFiE faeam 3 -

(a) oA SRR ST R ST 1 SHER, 2015 9 UEe A1,

(b) MW U0 FARETY FEEe Toara SHEs w0 8 @ 8 TR,

vatet 3= ;

1) (a) FF SR 378 (2)  (b) ek SR 371

(3)  (2) F (b) TR TR 3T (4) (a) ¥ (b) TEE I MR

Consider the following statements :

(a) The NITI Ayog has replaced the Planning Commission since January 1%, 2015,

{by It aims to involve the states along with the centre in policy making in India.

Answer options :

(1) (a) only is correct (2) (b} only is correct
(3) (a) and (b} both are correct (4) (a) and (b) both are Incorrect
-o0o-
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64 A

I — (78 1 967 ...

@®) yrpfaEnel fafea Foem fafine wmia =3 F 0 (16 56) FE. TS sfeiE Saufea @
T HUEEL Fs FH FoqH § F TG RIE FO AR, W HAS TES 9 HER SHTANR
WA S e | wlad g i wftey woaEmEe sifuftm-g2 ' Adie REKeR FRAE
T S 9 TN A FAE T T FREEE o S 718 uw geR wren sermn faw
TH EEe.

©) U TWAIREE SRy fafed O 98 GUeHT TGS § TR T e THEehaE
UST AU TETTH AR, WIR URaTER STTETRT WudaTgal SHEa el IHAR Al W1
THAGFHIRS I famren W T STavas g

9. . 201.

9. . 201.

AT 99
HAE 910 T FOAFE! S Jod: FIH Ho 7
(1) T <EEg e () ZveEs faEmEnR
@) T TR T @) TSR TS

W W A IR (3) TN UeET T IW R, e W1 v S '(3)" EEe. Anda
GIOGTEN ¥99 . 201 THO Su-FHi+ (3" ® Tz i sEifea e
NEF AR,

ONON N0

I TG TEJd TR TRAFdio s TYE qO9 SUGHEG @ R WAl e
IWEARGTE T A FEHAHEAIE Gt afes QI BEifed F8A SEEaL  giesila
e Hedl WY |ioi a9nd, e a1 e ™ sius WL
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